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Enrollment No: _______________________Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Summer Examination-2017 

 

Subject Name: Strength of Materials 
 

Subject Code: 2TE04SOM1                            Branch: Diploma (Civil) 

    

Semester:  4             Date : 12/04/2017            Time : 10:30 To  1:30          Marks : 70 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: 

 
(14) 

 a) In a loaded beam, the point of con-traflexture occurs at a section where 

a) Bending moment is minimum    c) bending moment is zero or changes sign 

b) Bending moment is maximum    d) shear force is maximum 

 

01 

 b) The law which states, “within elastic limits strain produced is proportional to the stress 

producing it”, is known as 

a) Poisson's law  b) Stress law   c)  Bernoulli's law     d)  Hooke's law 

01 

 c) The phenomenon of slow growth of strain under a steady tensile stress, is called 

a) Creeping      b)     yielding         c) breaking                d)   none of these. 

01 

 d) The following assumption is not true in the theory of pure torsion : 

a) The twist along the shaft is uniform   

b) The shaft is of uniform circular section throughout      

c) Cross-section of the shaft, which is plane before twist remains plane after twist                                    

d) All radii get twisted due to torsion 

  

01 

 e) The neutral axis of a beam cross-section must 

a) Pass through the centroid of the section 

b) be an axis of symmetry of the section 

c) be equidistant from the top of bottom films  

d) none of these 

01 

 f) The ratio of the effective length of a column and minimum radius of gyration of its 

cross-sectional area, is known 

a) buckling factor      b)   slenderness ratio     c) crippling factor  d) none of these 

01 

 g) Pick up the correct assumption of the theory of simple bending 

a) The material of the beam is homogeneous and isotropic 

b) The resultant pull or thrust on transverse section of a beam is zero 

c) Transverse section of a beam remains plane before and after bending 

d) All 

01 

 h) The point of contra flexure is a point where 01 
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a) shear force changes sign                c)  shear force is maximum 

 

b) bending moment changes sign       d) bending moment is maximum 

 

 i) Euler’s formula holds good only for 

a) long columns  b) short columns  c) both short and long columns   d)  weak columns 

01 

 j) The point of contra flexure occurs in 

a) simply supported beams     c)  cantilever beams     

b) overhanging beams            d)   fixed beams 

01 

 k) The unit of power in S I unit... 

a) Newton meter        b) watt    c) joule      d)   pascalmper second 

01 

 l) B.M. at the center of a simply supported beam carrying a uniformly distributed load is 

a)wl/2      b)wl
2
/4      c)wl

2
/8    d)wl

2
/16 

01 

 m) A beam is loaded as cantilever. If the load at the end is increased, the failure will occur 

a) In the middle  b)  At the tip below the load   c) At the support    d)  Anywhere 

01 

 n) The shape of cantilever for uniformly distributed load will be 

a) Straight line   b)  Parabolic  c)   Elliptical     d) Cubic 

01 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 a) State and Proof (i) parallel axis theorem  (iv) perpendicular axis theorem 07 

 b) Define (a) neutral layer   (b) neutral axis   (c) moment of resistance  (d) point of 

contra flexure (e) Shear force  (f) Bending moment   

06 

 c) Units of SF & BM  01 

Q-3  Attempt all questions (14) 

 a) Prove bending equation OR   { 
𝑀

𝐼
=

𝐹

𝑌
=

𝐸

𝑅
} 07 

 b) Write the equation of maximum B.M. 07 

Q-4  Attempt all questions (14) 

 a) Find the moment of inertia of the section shown in fig.

 

07 

 b) Find the moment of inertia of the section shown in fig. 07 
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Q-5  Attempt all questions (14) 

 a) 
Derive theory of Torsion or  

𝑇

𝐽  
=

𝜏

𝑅
=

𝐶.𝜃

𝑙
 

10 

 b) Explain: (i) moment of inertia  (ii) radius of gyration  04 

Q-6  Attempt all questions (14) 

 a) Write the assumption in the theory of torsion. 07 

 b) Derive the equation of power. 07 

Q-7  Attempt all questions (14) 

 a) A solid circular shaft of 300 mm diameter has to transmit 600 kW power at 200 

R.P.M. Calculate the maximum shear stress developed in the shaft-material and the 

angle of twist if the effective length of shaft is 3m. Take modulus of rigidity as 

8x10
4
MPa. 

07 

   

b) 

A solid steel shaft transmits 80 H.P at 200 R.P.M . The maximum torque in each 

revolution is 30% more than the average torque. If maximum shear stress is 800 

Kg/cm
2
. Find diameter of the shaft .also find polar section modulus. 

  07 

Q-8  Attempt all questions (14) 

 a) Draw SF and BM diagram for Beam Shown Below 

 

07 

 b) Derive relation between uniformly distributed load (W),Shear Force (V) and Bending 

Moment (M) 

07 
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Q-1  Attempt the following questions: 

 
(14) 

 a) રોડેડ બફભ ભા,ં કોંન્ટ્રાફ્રેક્સય બફંદુ ઉદ્ભલે છે, જ્મા ં 
a)ફંડડંગ ભોભંટ ઓછા ભા ઓછી હોમ છે        b)ફંડડંગ ભોભંટ લધ ુભા લધ ુહોમ છે 

c)ફંડડંગ ભોભંટ શનુ્ટ્મ કેો નનળાની ફદરે છે      d)દફાણ ફ઱ લધ ુભા લધ ુહોમ છે 

01 

 b) નનમભ કે જેનુ નલધાન છે, “ઇરાસ્ટટકો બરનભટ ભા ંઉદબલતો ટરેન એ તેભા ંઉદબલતો ટરેસ ના 
સપ્રભાણ ભા ંહોમ છે. 

a) Poisson's law        b) Stress law      c)  Bernoulli's law      d)  Hooke's law 

01 

 c) સ્ટથય તાણ ભા ંધીભે દયે  લધતા ટરેનની ઘટના શુ ંકોહલેામ છે 
a) Creeping             b) yielding         c) breaking                d)   none of these. 

01 

 d) શદુ્ધ ટોસસન ના નસધ્ધાતં ભા ંનીચેના ભાથી કોઈ ધાયણા સાચી નથી  

a) ળાફ્ટ ની સાથે તેની ત્વલટટ એકોસયખી હોમ છે 

b) આખા ળાફ્ટ ભા ંએકોસયખો લર્ ુસ઱ાકોાય સેકોસન હોમ છે 

c) સ્વલટટ ની ઩ેહરા ળાફ્ટ નો ક્રોસ સેકોસન પ્રેન હોમ છે જે સ્વલટટ ઩છી ઩ણ પ્રેન યહ ે
છે  
d) ફધી નિજ્મા ટોસસન ના રીધે સ્વલટટ હોમ છે  

01 

 e) ફીભ નો ક્રોસ સેકોસન તટટથ યહ ેછે   
a)સેકોસન ના ભધ્મબફંદુ ભાથી ઩સાય થામ છે  
b) સેકોસન ની સયખી ધયી ફને છે  
c) ઉ઩ય અને નીચે ની ડપલ્ભ થી સયખા અંતયે હોમ છે  
d) ઉ઩યના ભાઠી એકો ઩ણ નહં  
 

 

 

01 

 f) અસયકોાયકો રફંામ અને ઓછા ભા ંઓછી ભ્રભણ નિજ્મા નો ગણુોત્તય એ કે્ષિપ઱ના ક્રોસ 
સેક્ળન, કોઈ યીતે ઓ઱ખામ છે  

b) buckling factor      b)   slenderness ratio     c) crippling factor  d) none of these 

01 

 g) નસમ્઩ર ફંડડંગ ના નસધ્ધાતં ની ધાયણા ને નીચેના ભાથંી ઩સદં કોયો  
a) ફીભ નુ ંભડટડયમર સજાતીમ અને સભદેનળકો હોવુ ંજોઈએ  

b) ફીભ ના િાસંા સેકોસન ભા ં઩ડયણાભી ખેચાણ અને થટૃત નુ ંમલૂ્મ શનૂ્ટ્મ હોમ  
c) ફંડડંગ ની ઩ેહરા અને ઩છી, ફીભ નો િાસંો સેકોસન પ્રેન યહ ેછે 

01 
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d) ઉ઩યના ફધાજ  
 h) કોંરાપરેકોસય બફંદુ એ એવુ ંબફંદુ છે જ્મા?ં 

a) નળમય પોસસ નનળાની ફદરે છે. 

b) ફંડડંગ ભોભેન્ટ્ટ નનળાની ફદરે છે. 

c) નળમય પોસસ લધ ુભા ંલધ ુહોમ છે. 

d) ફંડડંગ ભોભેન્ટ્ટ લધ ુભા ંલધ ુહીમ છે. 
 

01 

 i) મુરય નુ સુત્ર પક્ત ળેના ભાટે સાચુ છે. 

a)રાફંો કોૉરભ  b)ટૂંકોો કોૉરભ  c)ફનેં, રાફંો અને ટૂંકોો કોૉરભ  d)નફ઱ો કોૉરભ  
01 

 j) કંટ્રાફ્રેક્સય બિફદુળેભા ઉદ્બલે છે. 

a) સાદી યીતે ટેકોલેર ફીભb)ઓલહંબગંગ ફીભc) કંોડટબરલય ફીભ  d)ડપક્સ ફીભ  
01 

 k) ઩ાલય નો એકભ. = 

a) newton meter        b) watt    c) joule      d)   pascalmper second 

01 

 l) સાદી યીતે ટેકોલેર ફીભ ભા ંસભનલતડયત બાય ના ભધ્મ ભા ં B.M. 

a)wl/2      b)wl
2
/4      c)wl

2
/8    d)wl

2
/16 

01 

 m) નફભ કંટટનરલય  કેહલામ છે. જો છેડા ઩ય બાય લધતો હોમ , તો ર્ટૂલાની ળક્યતા.  

a) લચ્ચે થી  b)બાય ની અણી આગ઱ નીચે c)ટેકોા ઩ાસે  d)ગભે વમા ં 

01 

 n) કંટટનરલય  ઩ય સભનલતટયત બાય  હોમ ત્માયે તેનો આકાય   

a) Straight line   b)  Parabolic  c)   Elliptical     d) Cubic 

01 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 a) રખો અને સાનફત કયો. (i) સભાતંય ધડય પ્રભેમ  (ii) રફં ધડય પ્રભેમ 07 

 b) વ્માખ્મા રખો (i)તટસ્થ સ્તય (ii) તટસ્થ ધટય (iii) અલયોધ ની ભોભંટ (iv) કંટ્રાફ્રેક્સય બિફદુ  

(v) દફાણ ફ઱ (vi) ફંડીંગ ભૉભેન્ટ 

06 

 c) દફાણ ફ઱ &ફંડડંગ ભોભંટ નો એકોભ રખો.  01 

Q-3  Attempt all questions (14) 

 a) ફંડડંગ સનભકોયણ સાબફત કોયો. અથલા { 
𝑀

𝐼
=

𝐹

𝑌
=

𝐸

𝑅
}. 07 

 b) લધ ુભા લધફંુડડંગ ભોભંટ નુ સુત્ર રખો. 
 

07 

Q-4  Attempt all questions (14) 

 a) આકૃનતભાં ફતાલેર સેક્ળન ની જડીત્લધૂણણ ભોભંટ ળોધો. 07 
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 b) આકૃનતભાં ફતાલેર સેક્ળન ની જડીત્લધૂણણ ભોભંટ ળોધો 

 

07 

Q-5  Attempt all questions (14) 

 a) ટોસણન ના નસધ્ધાંત નુ સનભકયણ 
𝑇

𝐽  
=

𝜏

𝑅
=

𝐶.𝜃

𝑙
 તાયલો.  10 

 b) (i) જડવલધણુસ ભોભેન્ટ્ટ  (ii) ભ્રભણ નિજ્મા 04 

Q-6  Attempt all questions (14) 

 a) ટોસણન ના નસધ્ધાંત ની ધાયણા રખો. 07 

 b) ઩ાલય નુ સુત્ર તાયલો. 07 

Q-7  Attempt all questions (14) 
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 a) એક ઘન સક્મુણરય ળાફ્ટ નો વ્માસ 300 નભનભ છે તે એકો નભનટ ના200 આંટાપયે છે અને  600 kW 
઩ાલય લહન કોયે છે . ળાફ્ટ ભડટડયમર ભા ંઉદબલતો લધ ુભા ંલધ ુનળમય ટરેસ ની 
ગણતયી કોયો અને જો ળાફ્ટ ની અસયકોાયકો રફંામ 3 ભીટય હોમ તો તેનો સ્વલસ્ટટંગ 
ખણૂો ળોધો. ડયજીડીટી ભોડયરુસ 8×10

4
MPa રો . 

07 

   

b) 
એકો ઘન ળાફ્ટ 200 ચક્ર એકો નભનનટ ભા ંપયે છે તે 80 H.P. નુ ંલહન કોયે છે .દયેકો 
ડયલોલ્યળુન ભા ંલધ ુભા ંલધ ુટોકોસ એ સયેયાળ ટોકોસ કોયતા ં 30 % લધાયે છે . જો લધ ુભા ં
લધ ુનળમય તાણ 800 kg/cm

2હોમ તો ળાફ્ટ નો વ્માસ ળોધો અને ધ્રલુીમ સેકોસન 
ભોડયરુસ ઩ણ ળોધો. 

  07 

Q-8  Attempt all questions (14) 

 a) નીચે આ઩ેરા ફીભ ભાટે નળમય પોસણ અને ફંડિડીગ ભોભંટ આક્રુનત દોયો. 

 

07 

 b) સભનલતટયત બાય (W), દફાણ ફ઱ (V), અનેફંડિડીગ ભોભંટ (M)લચ્ચે નો સફંધ તાયલો. 07 

 


